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Metric spaces: 

Question #1 In the metric space , i.e., bounded sequences  with distance given by the sup-
norm,

let

The interior  of the set  is:

(A) the empty set ;
(B) a non-empty subset of  that is not all of ;
(C) all of ;
(D) all of ;
(E) a black hole.

Question #2 The closure  of the set  is:

(A) the empty set ;
(B) a non-empty subset of  that is not all of ;
(C) ;

(D) ;

(E) a black hole.

earn

ℓ∞

ℓ∞ ( )xn

d(x, y) = ∥x − y = sup{| − | : n ∈ N},∥∞ xn yn

E = {( ) ∈ : 0 < < 1,  ∀n ∈ N}.xn ℓ∞ xn

E∘ E

∅
E E

E

ℓ∞

E
¯ ¯¯̄

E

∅
E E

E ∪ {0, 1}

{( ) ∈ : 0 ≤ ≤ 1,  ∀n ∈ N}xn ℓ∞ xn

4/6/25, 4:02 PM Poll Results

https://www.childsmath.ca/childsa/forms/3aStuff/view_results.php?poll_num=69 1/2



4/6/25, 4:02 PM Poll Results

https://www.childsmath.ca/childsa/forms/3aStuff/view_results.php?poll_num=69 2/2


